B6.4 _ B6.4D Factory Team and Option Parts
Part Num Description RC10B6.4 RC10B6.4D
AS980 Flat Sensor Wire, 150 mm/5.91 in X
AS1105 FT Green Slime Shock Lube

AS1111 FT Turnbuckle Wrench, aluminum

AS1114 FT Dual Turnbuckle Wrench

AS1335 FT Aluminum Pinion Gear, 17T 48P, 1/8 shaft
AS1336 FT Aluminum Pinion Gear, 18T 48P, 1/8 shaft
AS1337 FT Aluminum Pinion Gear, 19T 48P, 1/8 shaft
AS1338 FT Aluminum Pinion Gear, 20T 48P, 1/8 shaft
AS1339 FT Aluminum Pinion Gear, 21T 48P, 1/8 shaft
AS1340 FT Aluminum Pinion Gear, 22T 48P, 1/8 shaft
AS1341 FT Aluminum Pinion Gear, 23T 48P, 1/8 shaft
AS1342 FT Aluminum Pinion Gear, 24T 48P, 1/8 shaft
AS1343 FT Aluminum Pinion Gear, 25T 48P, 1/8 shaft
AS1344 FT Aluminum Pinion Gear, 26T 48P, 1/8 shaft
AS1345 FT Aluminum Pinion Gear, 27T 48P, 1/8 shaft
AS1346 FT Aluminum Pinion Gear, 28T 48P, 1/8 shaft
AS1347 FT Aluminum Pinion Gear, 29T 48P, 1/8 shaft
AS1348 FT Aluminum Pinion Gear, 30T 48P, 1/8 shaft
AS1349 FT Aluminum Pinion Gear, 31T 48P, 1/8 shaft
AS1350 FT Aluminum Pinion Gear, 32T 48P, 1/8 shaft
AS1351 FT Aluminum Pinion Gear, 33T 48P, 1/8 shaft
AS1352 FT Aluminum Pinion Gear, 34T 48P, 1/8 shaft
AS1364 FT Aluminum Servo Horn 23T, 15.5 mm

AS1366 FT Aluminum Servo Horn 25T, 15.5 mm

AS1369 FT Aluminum Clamping Servo Horn 23T, 15.5 mm
AS1370 FT Aluminum Clamping Servo Horn 25T, 15.5 mm
AS1405 FT Titanium Turnbuckles, 48 mm/1.875 in, silver
AS1568 FT 5.5 mm Short Nut Driver

AS1569 FT 7 mm Nut Driver, T-Handle

AS1570 FT 7.0 mm Short Nut Driver

AS1579 FT Ball Cup Wrench

AS1595 FT Chassis Weights, 1/4 oz

AS1596 FT Thread Locking Adhesive, blue

AS1597 FT Tire Adhesive, medium viscosity

AS4187 Washers, 6x3x1 mm, nylon

AS6576 FT Precision Ground Diff Drive Rings, for 2.60:1 ball diff
AS6584 FT Ceramic Diff Balls, 3/32 in

AS6588 FT Black Grease, 4cc

AS6591 FT Diff Lube, 4cc

AS6727 Servo Tape

AS8545 FT Screws, Blue Aluminum M2x4 mm BHCS
AS9690 2WD Front Wheels, 2.2 in, 12 mm Hex, white
AS9691 2WD Front Wheels, 2.2 in, 12 mm Hex, yellow
AS9695 2WD/4WD Rear Wheels, 2.2 in, 12 mm Hex, white
AS9696 2WD/4WD Rear Wheels, 2.2 in, 12 mm Hex, yellow
AS25391  FT Locknuts, M4, flanged, blue aluminum
AS25392  FT Locknuts, M3, flanged, blue aluminum
AS27128  Servo Washers, black aluminum

AS27355  Shorty Battery Weight Set, 20g, 34g, 50g
AS27423  Reedy HV Motor Fan, with 195 mm extension

X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X
X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X



AS27457
AS31327
AS31381
AS31382
AS31383
AS31384
AS31385
AS31386
AS31387
AS31388
AS31389
AS31550
AS71034
AS71144
AS89229
AS91493
AS91494
AS91609
AS91610
AS91616
AS91618
AS91620
AS91658
AS91676
AS91681
AS91683
AS91727
AS91744
AS91745
AS91747
AS91750
AS91751
AS91752
AS91753
AS91757
AS91758
AS91761
AS91781
AS91784
AS91793
AS91795
AS91796
AS91797
AS91800
AS91802
AS91805
AS91806
AS91807
AS91821
AS91822
AS91823
AS91854

Reedy HV 30mm Aluminum Motor Fan

FT VCS3 Shock Bottom Caps

Ballstud Washers, 5.5x3.0x0.5 mm, blue aluminum
Ballstud Washers, 5.5x3.0x1.0 mm, blue aluminum
Ballstud Washers, 5.5x3.0x2.0 mm, blue aluminum
Bulkhead Washers, 7.8x0.5 mm, blue aluminum
Bulkhead Washers, 7.8x3.0x1.0 mm, blue aluminum
Bulkhead Washers, 7.8x2.0 mm, blue aluminum
Washers, 7.8x3.5x0.5mm, blue aluminum
Washers, 7.8x3.5x1.0mm, blue aluminum
Washers, 7.8x3.5x2.0mm, blue aluminum

FT Locknuts, M3, blue aluminum

FT Clamping Wheel Hexes, 6.0 mm

RC10T6.2 Steering Arm, +1mm, carbon fiber

Blue Countersunk Washers

FT Low Friction X-Rings

FT 12 mm Machined Shock Spacers, V2

FT Clamping Wheel Hexes, 5.0 mm offset

FT Clamping Wheel Hexes, 7.0 mm offset

FT 3x21 mm Shock Shafts V2, chrome

FT 3x23 mm Shock Shaft V2, chrome

FT 3x27.5 mm Shock Shafts (V2), chrome

RC10B6 FT Aluminum Bulkhead, 10g

RC10B6 Caster Hat Bushings

RC10B6 Caster Block Hat Bushings, 0.5, 1.5, 2.5mm
RC10B6 FT Titanium Front Axles

RC10B6.1 FT Titanium Turnbuckle Set, 3x48 mm/1.875 in, silver
FT Brass Under Battery Weights, 26g, 43g

RC10B6 FT Aluminum Servo Weight, 9g

RC10B6 FT Steel Servo Weight, 24g

FT Heavy Duty Ti Ballstuds, 4 mm, long neck

FT Heavy-duty Ti Ballstuds, 6 mm, long neck

FT Heavy-duty Ti Ballstuds, 8 mm, long neck

FT Heavy-duty Ti Ballstuds, 10 mm, long neck
2WD Slim Front Wheels, 2.2 in, 12 mm Hex, white
2WD Slim Front Wheels, 2.2 in, 12 mm Hex, yellow
RC10B6 FT Carbon Fiber Servo Weight

RC10B6.1 FT Gear Diff Cover, aluminum

RC10B6.1 FT Aluminum Cross Pins

RC10B6.1 Aluminum Differential Height Inserts, black
RC10B6.1 Laydown/Layback Motor Plate, blue aluminum
FT Laydown/Layback Motor Plate, carbon fiber

FT Titanium Top Shaft Screw
RC10B6.1 FT Direct Drive Kit

RC10B6.1 FT Vented Slipper Hub, inner
RC10B6.1 HTC Slipper Hub, outer

RC10B6.1 FT Vented Slipper Hub, outer

RC10B6.1 FT HTC Vented Slipper Hub, outer
RC10B6.1 Anti-roll Bar Hardware

RC10B6.1 FT Front Anti-roll Bar Set
RC10B6.1 FT Rear Anti-roll Bar Set

RC10B6.2 Rear Suspension Arms, 73mm, hard

X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X

X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X



AS91855
AS91862
AS91866
AS91872
AS91873
AS91874
AS91876
AS91877
AS91878
AS91887
AS91888
AS91889
AS91891
AS91894
AS91898
AS91902
AS91903
AS91905
AS91906
AS91907
AS91908
AS91910
AS91913
AS91923
AS91925
AS91929
AS91931
AS91932
AS91933
AS91934
AS91935
AS91936
AS91937
AS91938
AS91940
AS91941
AS91942
AS91943
AS91944
AS91945
AS91946
AS91947
AS91948
AS91949
AS91950
AS91951
AS91967
AS91968
AS91970
AS91972
AS91975
AS91976

RC10B6.2 Rear Suspension Arms, 75mm

FT Clamping Wheel Hexes, 4.0 mm
RC10B6.2 Front Wing, clear

RC10B6 FT Front Suspension Arms, gull wing, carbon
RC10B6.2 FT Rear Suspension Arms 73mm, carbon

RC10B6.2 FT Rear Suspension Arms 75mm, carbon

RC10B6.2 FT Rear Hubs, carbon

RC10B6.2 FT Rear Hubs, blue aluminum

RC10B6.2 FT Rear Hubs, black aluminum

RC10B6.3 FT Servo Mount Set

RC10B6.2 FT Rear Ballstud Mount, +2mm, blue

RC10B6.2 FT Rear Ballstud Mount, +2mm, black

RC10B6.3 HD Slipper Spring and Adapters

RC10B6.3 FT Servo Mount Brace, carbon fiber

RC10B6 FT Bulkhead, 25 deg, 30 deg, steel

RC10B6.3 FT Steering Block Arms, HT +1, carbon fiber
RC10B6.3 FT Wing Mount Brace Set, aluminum

RC10B6.3 FT Battery Strap Shoulder Screws, blue aluminum
RC10B6.3 FT Arm Mount C, wide, brass

RC10B6.1 FT Laydown/Layback Motor Plate, 3.5mm, blue
RC10B6.1 FT Laydown/Layback Motor Plate, 3.5mm, black
RC10B6 FT Steering Arms, carbon fiber

AE Branding Decal Sheet

FT 13x23MM SHOCK BODIES, FOX KASHIMA COAT

FT 13x27.5MM SHOCK BODIES, FOX KASHIMA COAT

13mm SHOCK COLLAR AND SEAL RETAINER SET, BLACK ALUMINUM
FT 13mm SHOCK PISTON, 2.5MM [2x1.5]

FT 13mm SHOCK PISTON, 2.5MM [2x1.6]

FT 13mm SHOCK PISTON, 2.5MM [2x1.7]

FT 13mm SHOCK PISTON, 2.5MM [2x1.8]

FT 13mm SHOCK PISTON, 2MM [2x1.5]

FT 13mm SHOCK PISTON, 2MM [2x1.6

FT 13mm SHOCK PISTON, 2MM [2x1.7]

FT 13mm SHOCK PISTON, 2MM [2x1.8]

13mm FRONT SHOCK SPRING, WHITE 3.3lb/in [L44, 7.25T, 1.2D]
13mm FRONT SHOCK SPRING, GRAY 3.4lb/in [L44, 7.0T, 1.2D]
13mm FRONT SHOCK SPRING, BLUE 3.6lb/in [L44, 6.75T, 1.2D]
13mm FRONT SHOCK SPRING, YELLOW 3.8Ib/in [L44, 6.5T, 1.2D]
13mm FRONT SHOCK SPRING, RED 4.0lb/in [L44, 6.25T, 1.2D]
13mm FRONT SHOCK SPRING, ORANGE 4.3Ib/in [L44, 6.0T, 1.2D]
13mm FRONT SHOCK SPRING, Purple 4.6lb/in [L44, 5.75T, 1.2D]
13mm REAR SHOCK SPRING, GREEN 1.8Ib/in [L61, 11.5T, 1.2D]
13mm REAR SHOCK SPRING, WHITE 1.91b/in [L61, 11.0T, 1.2D]
13mm REAR SHOCK SPRING, GRAY 2.0lb/in [L61, 10.5T, 1.2D]
13mm REAR SHOCK SPRING, BLUE 2.2Ib/in [L61, 10.0T, 1.2D]
13mm REAR SHOCK SPRING, YELLOW 2.3Ib/in [L61, 9.5T, 1.2D]
RC10B6.4D CHASSIS

RC10B6.4 CHASSIS, +3MM

RC10B6.4 FT SIDE RAILS, CARBON

RC10B6.4 FT TOP PLATE AND BALLSTUD MOUNT, CARBON
RC10B6.4 FT Carbon Fiber ESC Weight

RC10B6.4 ALUMINUM ESC WEIGHT

X X X X X X X X X X X X

X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X

X X X X

X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X

X X X X X



AS91977
AS91980
AS91982
AS91983
AS91984
AS91985
AS91986
AS91987
AS91989
AS91991
AS91992
AS91993
AS91994
AS91995
AS91999
AS92011
AS92014
AS92100
AS92185
AS92285
AS92286
AS92293
AS92294
AS92295
AS92296

RC10B6.4 FT STEEL ESC WEIGHT

RC10B6.4D FT CHASSIS PROTECTIVE SHEET, PRINTED
RC10B6.4 LIGHTWEIGHT BODY, CLEAR

RC10B6.4 FT ALUMINUM STEERING BELLCRANKS, BLUE
RC10B6.4 FT ALUMINUM STEERING RACK, BLUE

RC10B6.4 -1MM SCRUB CASTER AND STEERING BLOCKS, CARBON
FT 13x23mm and 27.5mm FOX SHOCK UPGRADE WITH GENUINE KASHIMA
RC10B6.4 ALUMINUM FRONT BULKHEAD [0], BLUE
RC10B6.4 FT BEARING SET

BALL DIFFERENTIAL REBUILD WITH CAGED THRUST BEARING
RC10B6 BALL DIFFERENTIAL KIT WITH CAGED THRUST
RC10B6.4 DECAL SHEET

13X23mm SHOCK KIT

13X27.5mm SHOCK KIT

RC10B6.4 FT CHASSIS PROTECTIVE SHEET, PRINTED

RC10B6 Arm Mount Inserts, 1/0.5

Arm Mount Inserts

FT Aluminum Wing Buttons

RC10B74 FT Rear Hub Link Shim Set, carbon fiber

FT Octalock LCF Slipper Pad, 11mm

FT Octalock LCF Slipper Pad, 19mm

Octalock Spur Gear, 72T 48P

Octalock Spur Gear, 75T 48P

Octalock Spur Gear, 78T 48P

Octalock Spur Gear, 81T 48P

X X X X X X X X X X X X X X X X X X X X X X X

X X X X X X X X X

x

X X X X X X X X X X



